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Consider an ionic lattice in two dimensions consisting of identical
atoms arranged at the points nax + mby for n,m € Z. What is the
symmetry group of the lattice?
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What is the group of transformations that leave (0,0) invariant?
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Define a subgroup and a stabilizer group.
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@ Define a product group. Explain why Dy = Zs X Zs.
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Is the symmetry group of the lattice a product group?
e symmetry group of the Jrticy (atb)
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@ Define the semidirect product. Fp L"/ h\) - L’ Y\/ M)
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What is the full symmetry group of the lattice?
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